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Note(s):

You will receive [3 pts] for filling out the information above.

MAKF SURE THE EXAM HAS 16 NUMBERED PAGES.

This is a CLOSED BOOK exam. However, you may use one 3.5 x 11" of

notes (both sides) and a calculator.

4. SHOW YOUR WORK on this exam. MAKE YOUR METHODS CLEAR
TO THE GRADER so vou can receive partial credit.

5 WERITE ANSWERS CLEARLY IN THE SPACES (lines or boxes)

PROVIDED.

Remember to specify units on answers whenever appropriate.

If you are asked to setmp eguation{s} only, do NOT attempt to selve the

equation(z).

Eadl Ll

M@

SCORE: Thispage: /3
1 fx
N k.
3 IX
N
TOTAL: /100

MG

’-_-} .
NOXEL D N e
— ________—“:'

OBTL'LL 1 tmn‘%%'ﬂ



mﬁ/\.ﬂa&}-@ - \O‘!;P‘% \lc J% My ag‘ﬁ“u,
lns oy Q&udﬁﬁ. U?(ZJI9%>

Problem 1 (30 points)

HINT: Nodal analysis is not necessary for this problem because the circuits can be
solved by inspection.

(2) In the circuit below, find V (10 points).

N

(b} In the circnit below. the switch has been clos fime before opening at t=
0. Fimnd Vs att=0". (10 points).
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{c} Find the Norton equivalent of the circuit below at the ab termunal. (5 points).
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atab. Use = 1000 rad’sec (5 points).
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Problem 2 (30 points)

In the circust below, find V1 and V2
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the capacitance, mdependent source values and the nonlinear NL clement. This
has been specially made for this sudterm and the I-V relationship 15 given below:
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PROBLEM 3 (25 poinis)
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To recemve credit, you must write vour ansywer 1n the box below. DO NOT SOLVE
THE EQUATIONS!
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PROBLEM 4 (12 points)

In the ciromt below, the switch has been closed for a long time before opening at t = 0.

Find snd Sketch Vi{t) for t= 0.
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